YEAR 7 TEST 3A

1a ~ 85+ 372+ 15
=85+ 15+ 372
= 100 + 372
= 472
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2 a 68 = 10
= 680

b 2700 + 100
=27

3 a 745 x 20
= 745 x 2 x 10
= 1490 » 10
= 14900

b 5 x 83 x 60
= 5 x 60 x 89
= 300 x 89
= 3 x 89 x 100
= 267 x 100
= 26 700
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$304 + 8 = $38
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5a 8+5x9—7

=B84 45-7 {x first}
=537
= 46
b 3Brdx2+5 ’

=0x2+5 {= first}
=18+5 {x next}
= 23

6 6 —te 10 -5 2
16 ~=te 0 2w 4
26 —1e 30 —2» 6

So, 56 ——t= 60 ——Iw12

and the operations are -+ 4 followed by = 5

7 Factors of 40 are

745 1 and 40; 2 and 20; 4 and 10; 5 and &
x 2

1490

8 a Factors of 69 are
1 and 69; 3 and 23

89
w 3 b composite

267

9 36, 40, 44, 48, 52, 56, 60

10 Multiples of 6 are:

6, 12, 18,24), 30, 36, ......
Multiples of 8 are:
8, 16,24, 32, 40, .....
LCM of 6 and 8 is 24.

11 Total winnings = 23 x $45

23
x4 5
115 {23x5}
920 {23x40}

1035 {adding}
le., $L035
Check: winnings == $20 x 50
= $1000
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